STEVE HARRIS PRECISION BASS MN ® (014-1032-305)

PARTS LAYOUT

Page 1 of 4
OCT 06, 2014 - Rev. A




STEVE HARRIS PRECISION BASS MN ® (014-1032-305)

PARTS LIST
REF # DESCRIPTION PART NUMBER
1 BODY P BASS MPL OWT STRP B&P 7706734505
2 NECK P BASS STEVE HARRIS MN MX B&P 7706733000
3 KEY ASSY BASS W/O BUSH 0076568049
4 BUSHING FOR KEY 0076568000
5 SCRW SMAB 3x3/8 RHP NI 0011357049
6 STRING GUIDE DISC BASS 0013235000
7 SCRW SMAB 4x1/2 OHP NI 0015578049
8 PICKGUARD STEVE HARRIS CHROME 0077932000
9 SCRW SMAB 4x1/2 OHP NI 0015578049
10 PICKUP STEVE HARRIS SD SPB-4 7700153000
" SCRW SMA 8x1-3/4 OHP NI 0015636049
12 KNOB STD P BASS CHROME NS003 0081501000
13 CONTROL 250K 10% AUDIO META 0990831000
14 WASHER LOCK INTL 3/8 X .687 0016436049
15 NUT HEX 3/8-32x3/32 TK NI 0016352049
16 JACK PHONE 1/4 - OUTPUT 0047329400
17 WSHR FLAT 3/8x.614 NI 0031153049
18 WASHER LOCK INTL 3/8 X .687 0016436049
19 NUT HEX 3/8-32x3/32 TK NI 0016352049
20 FENDER HIGH MASS BRIDGE ASSY 0091066000
21 SCRW SMAB 5x1 OHP NI 0015610049
22 PLATE NECK MTG-CHR, STD STR 0033024000
23 SCREW 4X1-1/4 WOOD RD PHNI 0027035049
24 BUTTON STRAP NI 0.156 0994915000
25 SCRW WOOD 6x1 OHP NI 0016188049

7 Joadsere

COPYRIGHT - 2014 - FENDER MUSICAL INSTRUMENTS CORPORATION

Page 2 of 4
OCT 06, 2014 - Rev. A




STEVE HARRIS PRECISION BASS MN ® (014-1032-305)

WIRING DIAGRAM

SPLIT
PICKUPS

MASTER
VOLUME

v
Cthr-mi ’
ot %
\V /
‘ JACK

MASTER
TONE

GROUND BLACK WIRE
TO BRIDGE

?@E Page 3 of 4

COPYRIGHT - 2014 - FENDER MUSICAL INSTRUMENTS CORPORATION OCT 06, 2014 - Rev. A




STEVE HARRIS PRECISION BASS MN ® (014-1032-305)

SWITCH & CONTROL FUNCTION

SPLIT
PICKUPS

MASTER
VOLUME

MASTER
TONE

?% Page 4 of 4

COPYRIGHT - 2014 - FENDER MUSICAL INSTRUMENTS CORPORATION OCT 06, 2014 - Rev. A




